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Q1- Read the passage and answer the following questions.

The Tin Woodman built a raft. All of them got on it and started towards the river
bank. The water was very rough in the middle of the river. Scarecrow got stuck
there and the raft took the rest of them to the river bank. A stork helped them by
saving Scarecrow.

Soon they reached the poppy field. The poppies could make a person sleep, thus
making Dorothy, Toto and the Lion feeling sleepy. But, the Tin Woodman and
Scarecrow weren’t sleepy so they brought everybody out of the field.

a- What is a raft?

b- What did the stork help them with?

c- Why did the Tin Woodman and the Scarecrow not feel sleepy?

d- Circle all the prepositions from the passage.
Q2- Write a diary entry on:

a- Telling how did you spend the whole day today? OR
b- How did you spend your previous day?



Answer key
Q1-

a- Araftis a floating platform or a boat made by joining logs together.

b- The stork helped them in saving the Scarecrow by carrying him out of the
river.

c- The Tin Woodman and the Scarecrow both were not made of flesh. OR
They were not living beings like Dorothy, Toto and the Lion.

d- On, towards, in, to, by, out

Q3- Student’s discretion.



